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(1) This Question paper contalne 20 Muliiple Choles type fues
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(iv) This Eueation Dprer contalng 4 Hhart Anaiwwr Vype-l qu"““?“ﬂ;
question carries 8 marky Ansier tfiege uastions in 60 to B0 worcs: Each
fu) This Queption Pifrey containg @ Blort Answwr Type-ll questions.

question carries o ricirks Ansiuer theage dusstions in 80 Lo 100 wcrrele. e
(ui) This Cueation PAper containg 4 Long Answer type ‘ﬂ”b””’“"- -
question carries 8 marks Ansiwer hess auestions in 100 to 160 words,
(vii) Attempt all parts of a question g, wether s
(viit) In addition to this, NOTE that o separate guestion has lb-”i"!i prrovidec ls
Visually Impaired candidaies tn liew of questions having viswal m;rf;:y}
map ete, Buch questions are to brer allempled by Visually Impa
candidales only. .
f.!'.'l.’J '3"?‘131"4? 8 no overall cholee in the QLiesl o paper, However, -‘.jﬂ |ntp,r:1 v/
cholee has been provided (n few questions, On ly one of the cholces In suc
questions has to be attempted,

BECTION - A
(Macro Economics)

Buppose, the value of Average Propensity to Consume (APC) i:’ 0.8 and
National Income is 2 4,000 crores, the value of saving would be T _

Crores. (Choose the correct option to fill up the blank)
Options : _

(A) 100 (B) 200

(C) BOO £D) 800

Suppose, the saving curve of an economy makes an intercept at a negative

value of T 50 crores. In the economy, 20% of an increase in income is
gaved,

In the light of above context, identify the value of investment multiplier (K).
Options :

(A) 2 By 5
(C) 10 (D) = (infinite)
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] 1oy nceept depoaits wral public
Op ok posaita on behalf of Reserve Bank of Indis
:::; ::}_1||]|I|I'I{il!i|] (n
Yand (I R EHG A
(Dy (1) and (GV)
ds worth

1If a count
LY exporta .
a goods worth of T 800 crores and importa go9
would be

of ¥ 450 crores
- 28, the value of
e - PURE R N f-'l‘m-::_:. +f Balance of Trade of the country )
(A) deficit, 150 i 3
(C) deficit, 1,060 1) surplus, 16
(D) surplus, 1,060

From : : :
the set of terms given in Column-1 and Co‘lumn-ﬂ. choose the 3

correct pair :
Column-1 Column-11

(a) Non-tax Revenue (i) Goods and Services Tax

(b) Indirect Tax (ii) Free-rider
(¢) Capital expenditure _ - (iii) Borrowings
(d) Private goods (iv) = Rivalrous in nature

Options :
(A) @-@ (B) (b)— @)
©) (¢)— (1) D) (@) —Gv)

g statements carefully : 1
cate.  systemi=18 an..

Read the followin
Managed floating exchange
ate system.

Statement-1 ¢

; amalgamation of fixed and flexible exchange X :

Statement-2 : Managed floating exchange rate system is 8180 known 8
om the

‘hybrid system’. |
ments, choose the correct option fr

In the light of the /given state
following :
(A) Statement 1

nt 2 1s false.

i true and Stateme
nt 2 is true. :

false and Stateme

(B) Statement 118
(C)y~Both Statements 1 and 2 are true.
d 2 are false. /
e

(D) Both Gtatements 1 an
E].f
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Incoma from R (i) Old age pension

“DErepren,
"”’“hi]: i
A4} Profit

7 hi] ed illl.[ me aT
{cl X 0 Rent free aco . '

(iid)

d -~
() Com from an ﬁm;ﬂn_w.-r

Pensati n
Options s ion of Enlp!::yry..“ iy Intercst from capital
A) (@) - ) - :
(C) ' (0 - Gip (B) (b) - (i)
Dy (d) = (1v)

8. Read the :
0]10“‘]1]
E statem ’ :
correct option from thise ;::;‘1 -bA]sa:-rllun {A) and Reason (R). Choose the
; i elow :

Assertion (A) : Publ;
: Publ
¢ goods ara those goods that are collectively
= consumed by the pubije.
eason (R): Publi
: ublic goods are excludable and rivalrous in nature.
Options :
(A i
) Both Assertion _{A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false,
(D) Assertion (A) is false, but Reason (R) is true.

In the context of Current Account transactions of Balance of Payment,

identify the incorrect statement from the following :
(Choose the correct option)

Options :
(A) Export of goods and services are recorded as credit items.

(B)

Import of goods and services are recorded as debit items.
(C) All transfer payments are recorded as debit items.

(D) All transfer receipts are recorded as debit items.
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N Afte hin gradustion,

Opti . |
: Ptions (Choose the correct option) 2
(A Medium of Exchan
O 5 = BEe
() Standard of !.]l“l‘(‘!‘r;_..d Pus (B). Unit of Account
11. (&) 1 yments (D) Store of Value
- (a) Cale
1_Hi“_]“_t?'_tltf_’-‘ Value of Net va)
S. No. et _‘-'9_-’\_11‘1_{’(']_ at Factor Coat (NVApe) 3
: Particulars -_il__j\;;ila L
@ gp%_ﬂ;g—ﬂ—u;m—u: —e | (In X crore) |
L_Gi) | Thevease in unnsld s —— | 2110 |
G ET_-—EEIE(]]{I stock Tl 800 'l
ales T T |
———_ [Dales 10,626 |
o - —_— e L vyt fysn {
__((;%__Elm__asicff raw materials Jf 2,625 |
s S-Ozsudriiptmn of fixed capital 500 l
ubsidies '
~ 400
vii :
(vii) | Indirect taxes J[ 1,200 _\,
: OR
(b) Distinguish between Net Factor Income from Abroad (NFIA) and Net
Exports (X — M). 3
12. “All consumption goods are durable in nature.”
Defend or refute the given statement with the help of a suitable example. 3
13. “In the recent Budget the Government allocated funds for construction of
new metro lines in smart cities to improve public transportation and
reduce pollution.” -
Identify the nature of government expenditure & its objective. :
14, Suppose in an economy, primary deposits are % 500, if the Reserve R):.tmt;a
; , : e
959, Estimate the total deposits created and the total 1end.u:g_l_ by A
banking system. A
VRS (o
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17.

pditure
Y (where (0 ja consumpt "’””“ CroTe.
nnant sxpenditure is ;

(n) In JH'I"I'HHI'IH'I!.H' i O = 200 4 0 -
and Y is Nationn) Income), Tnve
'-.'uh‘ui‘n!vlt!u- following
(i} Eguilibrium level of Ty
b RO tonsumption oxpenditure al e

b

) o ! . OR

(1)  Explain the adjuatment mechaniam in chse &x-AN
grenter than ex-ante investments

f Epe

varl
puitibriam ineome le

i are
ta aaving® 4

Read the following text carefully :
[:]l'i'inu Food and Consumer Affnira Minister anid that th to
rovernment has taken many proactive steps in the past few b to
control retail prices of food items. He said that the government aime ic
keep inflation under control without compromising the cou ntry's um.m::'ﬂ_1;
growth. Retail inflation inched up to a three-month high of §.66% 1
November 2023 driven by higher food prices, Inflation has been de.:-;[-.nl.'-'lﬂ
since August 2023, when it touched G.A3%,. 140 new price munlmnﬂli
centres had been set up by the Central Government to keep a close WL
on wholesale and retail prices of essential commodities. fsn
The Government has banned the export-of many food jtems like Whi—:i\t«,'h!'“ e
rice, non-basmati white rice, onions ete. It has also reduced import duties on
edible oils and pulses to boost domestic supply and control price nse. he
On the basis of the given text and common understanding, answer b
following questions :
(a) Mention the number of new- price menitoring ce
government, £
(b) State any two proactive measures taken by government 0 DS
domestic supply and reduction in prices. : : 9
«{¢)' Explain any one monetary measure used to control inflation.

o F.a:*,nt.‘n'“‘l

ntres set up OY

(@) (1) Explain any two precautions to be adopted while estimating
National Income by Value-added method.

(i) “Higher Gross Domestic Prudu_.c!; (GDP) :
per capita availability of goods in the economy. e
Defend or refute the given statement as the index 0
the people of that country.

always means higher

OR : -
(b)) @ Distinguish between Stock and flow variables, using suitable .
les. ]
1i) Ei;ipin the components of ‘Profitt as per Income Method ©
(11 estimating National Income (NNPgg)-
EE P.T.
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19. Read the following statonioy

5

SECTI VN

(Indineg 10, vy

onomio e lopmesel

LT is ehort-term unempleyvm. L - B
LS : ; - ol e Bt oy WETINR, ne pe ile transil betweon § g
On the baeis of gmiven Oinltion, 4. R | : i e 1
indicated : pptian}

Py tha eorrest
Options : ipoardt,

(A Dsguised _["l'l"“"l‘l"'l'!l\“:lr

(B Seasonnl L nempleymagpt

(©) Open I.'nu.-mph:_'.'nu--..:

M FPrictional l:_"l:'l:1"f1l1_1ln_\' Mt

" 9 ¥
. R ik e carefully : Assertion (A) and Heason (B
Choose the correct Option from those given belaw -

As:sclr'tiPn (&) : Prior o economic reforms, public investment in socinl
"'I"_"s“-"':h""-‘ by China resulted in better Human Development
Indicators (H DIy,

Reason (R) : China is ahend of India and Pakistan on many Human
Development Indicatoras (HDI),

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
corréct explanation of Assertion ().

(B) Both Assertion (A) and Reason (R) are true, but Reasen (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) iz falsa,

(D) Assertion (A) is false, but Reason (R) is true,

Study the following image carefully :

i

Identify, the trade practice that has successfully replaced foreign goods
with domestic production.

Options : (B) Export Substitution

Export Promotion S
!%JJ Imgort Proliferation (D) Import Substitution

Ez:"&-@ P.T.O.
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b I \ Wiy In'ts
g1 yre ik glven in Column:1] . Numnl, mat .
mes Column.l i the eorreat pRiF oA i
Human Development |nc|h'n1.., Column-l
(h) []nmugrn]lhin Indieator B Nule of Livw
" { ,
() gpecial Feonomle Zong !III Conatitutional Protaction
{11 3
i) ':nllli"lnllrﬂl ik hl'll'l-il:l-ﬂlllﬂ
(d) Commune Systom seonomine aetivities
(h q ;
tlons § ) Collsetive industrialisation
P
A @-=0 g
© (@-aib 2050
) )~ (v)
22 Read the following statements carefully ; A
3 i * Mot
Choone the correct option from those giv sertion (A) and Reason 0%
ton (A) : 1 TR Y |
RMErHIOR ) ¢ Human capital formation in A
ici i m Incrense y
participation of population to economi : ln.m,n the rate
: conomic activitie "
gconomic Hn'r'Wth. setivities and leads 10
ge of

RERHD:L::{} ;E:{ﬂt‘il (.,f I‘illr:{:illlllifvli of people refers to the percenis

people engaged in producti ocens of a ¢ i

optlonﬂ : P n process of A country.

(A) Both Assertion (A) and Reason (R) are true
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reaso

correct explanation of Assertion (A).

(C) Assertion (A) i true, but Reason (R) is falee.
¢ Reason () 18 true.

(D) Assgertion (A) 1s false, bu

and Reason (H) 18 the

n (K) 18 not the
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dentify and select, the recent phepg e
iﬂr}ﬁssea their supply. Phenomenon in which demand for resources

Upzians H .
(A) Econﬂﬂilc ._E-'W"'*'th (B) Environmental crisis
() Technological advancement (D) Cultural evolution

Note : The,i:ullnwing question is for the visually impaired
candidates only, in lieu of Q. No. 25.

Identify, which of the following is NOT one of the strategies for

Sustainable Development.

Options :
(A) Use of non-conventional sources of energy

(B) Use of fossil fuel for transportation
(C) Use of traditional knowledge
(D) Use of organic compost manure

P.T.0.
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. : h Statements 1 and g , i
© B TS trye,
| o) Both Statements 1 ang g , falae.
|
1 |} . :
L en S
! :I = From the terms giv elow in Column.l ang ColimiETT. choose the
}‘h.h .. orrect pair of statements :
}hm- [ Col =
i = Column-11
@ fubsicies (a) Maximum quantity of goods
that can be imported
QU no eLing (®)  Element of IPR 1956
@ii) Small Scale Industries (R Tandte thartiiles
{
|I (iv) Moder nisation as a goal of (d) Change in social outlook
J five year plan
i Options :
I - ¥ £ b
@ - @ B) G)-b
iaa i) — ﬂ’l}
(©) (i) —(c) D) (v)-(
|
: : : apital.
; ygical Capital and Human Cap

98, Distinguish between Ph
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J'-{ YC t'_ﬂtmmmmt 3 dly; Ydel plangs prove to be cost
@ Define Carrying o " With vy
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32, Descrﬂ‘l_ﬁ' Elhe DA of develq
economic developmey; Priental injyiag
“HVes taken by Pakistan for its
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33. Re 8 text, carefully -

Agro-startups ang rurg] o

al develo . enterprises gy .
TUT; Pment in Indi 8 are hemmmﬂ increasingly vital for

. " a. Thevy

ru e — Y a ) i,
ral sector in Indlﬂﬁ'THese e ddrtssf the critical challenges faced by

0 Ures bring in technological innovations

such as precision farm'mg T}

ased momt_mth-.g system and data-driven
By streamlining supply chaing & Zprﬂd“f"-tl"lt!r' and resource efficienecy.
ensure bEtt&Lpricing for faym Nd creating direct market linkages, they
intermediaries! Such ent °rs and reduce dependency on traditional
generation in the iflerprxses contribute actively to employment
i S rural areas. The government has demonstrated &
. policy and _ﬁnancial support for agri-startups and
entrepreneurs through various programs like RKVY-RAFTAAR, the Agri-
infrastructure fund and Agri-SURE.
On the basis of given text and common understanding, answer the

following questions :
(a) Explain, how agro-starfups-address the critical challenges faced by .

the agricultural sector. <
(b) Comment on the role of government in supporting agro-startups an .

entrepreneurs in India.
o
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